@/ ®/ | 2x M6 Spring washer

P/N: 09 40 500 9903 01 P/N: 09 40 500 9903 03
1: M6x30-25 Anti-shed Inner Hexagon Screw XZpcs  (k: M§xS0 Hexagon socket head cap screw  x2pcs 2x M6 Flat washer

S

P/N: 19 39 006 0406 03 P/N: 19 39 006 0406 02
02: M6 Spring washer a2-70 xkpcs 03: M flat washer A2-70 xkpcs

0409 40 500 9903 03 M6x50 Hexagon socket head cap screw ISO 4762
0319 39 006 0406 02 M6 Flat Washer A2-70

02119 39 006 0406 03 M6 Spring Washer A2-70

09 40 500 9903 01 M6x90-25 Anti-shed Inner Hexagon Screw

09 40 500 9902 Han HPR-Compact SCL set one extenders
Part number Part Description Quantity

All Dimensions in mm Scale Free size tol. Ref.
Original Size DIN AL 111 Sub.

Created by Inspected by Standardisation Date State

Al rights reserved Jua LUOK ROEBEN 2021-11-25 Final Release

Title Doc-Key / ECM-Nr.

Han HPR-Compact SCL set two extender TG UG 0
HARTING (Zhuhai) Manufacturing Co., Ltd.

"R [M™09 40 500 9903 “B |

Department EL PD




